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(A) Coverage Overview
1. Easements: 

a. Basic Terminology (Express/Implied; Negative/Positive; Dominant/Servient; Appurtenant/In Gross)

b. Interpreting Express Easements: Determining the Scope


i) Blackletter Tests (S124)


ii) Cases: Positive Easements (Chevy Chase; Preseault (n.2 P774-75); Marcus Cable)



iii) Case: Negative Easements (Petersen)

c.
Implied Easements: Doctrine & Policy


i) Easements by Estoppel (Stoner; Nelson (n.3 P792))


ii) Easements by Implication (Williams Island Country Club)


iii) Easements by Necessity (Dupont)


iv) Prescriptive Easements (MacDonald Properties)



v) Sewage Pipe Hypothetical (All Four Types)
(B) List of Relevant Old Exam Questions
Express Easements:  1J 1M 1S    Q4-Spr 2016
Implied Easements: 1J 1M 1R 3J 4Z    Q1-Spr 2014    Q1 & Q3-Spr 2015   Q1-Spr 2016
(C) Student Questions & My Responses
(1) Express Easements
Q:   In terms of defining the scope of an easement, what is the relationship between the parties’ intent and objective evidence of their intent and the blackletter tests for the scope of an easement? 

A: The three blackletter tests are each formulations the states have used to get at the question of whether the challenged use of the easement is within the parties’ intent.  Thus, discussions relating to evidence of the parties’ intent is probably relevant when applying any of the three tests although each test places the focus of the analysis a little bit differently from the others.

· “Use must be reasonable considering the terms of the grant” suggests that you begin with the language of the grant, which usually is seen as the best evidence of intent.  
· “Evolutionary not revolutionary” focuses on the extent and nature of the change in use, but whether a change is revolutionary will turn in part on what the parties understood when they entered the agreement.  
· “The burden must not be significantly greater than that contemplated by parties” suggests comparing the burdens on the servient estate from the challenged use to the burdens intended by the parties.   
Q: When is an express easement binding on subsequent purchasers of the servient tenement?

A. The technical answer lies in material we didn’t cover (and I won’t test) in 2016. You might find the following (slightly over-generalized) version helpful: 

· In all states, if the holder of the easement puts a copy of the document creating the easement into the public land records before the servient tenement is sold, the easement will bind all subsequent purchasers.

· In most states, if subsequent purchasers have notice of the existence of the easement at the time of the sale, they are bound. Notice includes:

· Actual Notice (Fact Q): Was the purchaser actually aware of the existence of the easement?

· Inquiry Notice (Legal Q):  Were there facts at the time of sale that should have suggested the existence of the easement to the purchaser?  The railroad tracks in Chevy Chase and the electric wires in Marcus Cable would serve as inquiry notice, as would a path or road leading from the edge of someone else’s land across the servient estate.
Q: When we were discussing Chevy Chase, why were we talking about burdens on the people living along the old railroad tracks?  Shouldn’t we be focused on the parties to the easement?
The people living along the road are parties to the easement (the servient owners).  Their predecessors sold easements across their lots to the railroads and the current owners are bound by them (because they took with notice of the tracks).  Some of these owners are now complaining that the railroad easements do not authorize their use as part of a recreational trail.

 (2) Implied Easements
Q:  You mentioned in [a prior] class that the cases on easements-by-estoppel illustrate the tension that exists between (i) the desire to have a clear set of rules; and (ii) focusing on wrong-doers and holding them to their word.  Is this similar to the tension between the desire to have a clear set of rules and allowing people freedom to contract?  How is this tension reflected elsewhere in the course?

A: Both are examples of the common tension between certainty and flexibility.  Allowing EbyE  increases uncertainty because it is very difficult for either landowner to know for sure when the easement has come into being and because subsequent purchasers of either parcel will have trouble determining whether the easement exists unless the dominant owner has litigated the case and recorded the judgment.  However, allowing these easements also allows a court to hold the owner of the servient tenement responsible for acting in a way that caused detrimental reliance, arguably achieving justice although sacrificing certainty.  Other examples of Certainty v. Flexibility from Spring 2017 include:

· Determining allowable visitors to MWs by using limited list of in Florida statute v. by using more open-ended  language and exam[;es in Shack.
· Marcus Cable v. Chevy Chase Approaches to Determining Scope of Easements

· Determining scope of IWH by looking only at Housing Codes or asking about “Habitability” generally.


Q: I am having difficulty understanding the difference between easements by estoppel and easements by necessity/implication. They seem to have the same qualities to me! 

A:  Purposes & elements are different, but there can be some overlap in relevant evidence and sometimes same circumstances can create more than one type of implied easement.
EbyI:  Arises when there's a split in one parcel from evidence that the parties must have intended a prior (pre-split) use to continue.  
EbyN: Arises when there's a split in one parcel that results in one of the resulting lots being landlocked.
EbyE: Arises from detrimental reliance on apparent permission from owner of servient estate.  
· Unlike EbyI & EbyN, no need to show one parcel split in two for EbyE.  
· Also unlike EbyI or EbyN, need to show for EbyE that owner of servient estate expressly or impliedly gave permission for use to begin.  
Note that evidence of the extent of necessity for the easement is relevant to all of them.  For EbyE, evidence of necessity is used to show that dominant estate-holder really was relying on the use of the easement. 

Q: Are quasi-easements a necessary element of easements by implication?.
A: One element always required for EbyI is use of whatever constitutes the claimed easement  prior to the division of the parcels.  In some jurisdictions, this earlier use is called a "quasi-easement."  So the prior use is always required, but this term is not always used.

Q: Are actual and inquiry notice both required for easements by implication?  Is the apparent/visible/reasonably discoverable point part of the notice test?
A:  Apparent/Visible/Reasonably Discoverable is a separate element in some jurisdictions and in others, it is merely evidence that is a part of the overall search for intent of the parties. Where it is a separate element, it can be met by either actual or inquiry notice.

In addition, as with other types of easements, some form of notice is needed to bind subsequent purchasers of the servient estate to the easement. Again, either actual or inquiry notice will do.  [There is no situation anywhere that I know of that requires both.]
Q: If a parcel is landlocked by three parcels, how do you decide where to place the easement by necessity?
 

 A:  An easement by necessity only can arise when a landlocked portion of a larger parcel is split off to become a separate lot.  Most frequently, when the split occurs, the result is just two parcels, the landlocked parcel and the remaining piece with outside access.  In that case, the easement by necessity is placed over the remaining piece of the original lot, even though other parcels typically adjoin the landlocked parcel as well.  This is true even when the easiest route out of the landlocked parcel is not across the remaining piece.  The idea seems to be that, at the time of the split, the owner of the remaining piece should have understood that the landlocked parcel would need a way out.


In a few instances, the landlocked parcel is created by a subdivision of the original piece of land into three or more lots and there are plausible access routes across two or more of the remaining pieces.  In those cases, you’d have to argue about the best way to place the easement.  If I were one of the lawyers, I might suggest that the court choose the access route that caused the least harm to the servient parcel and that the owners of the other remaining parcels contribute land or money to the servient tenement owner to make up for that owner taking on the burden of the easement.

 (D) Review Problems:  Comments & Best Answers
(1) Review Problem 5A (S125) (Santa & Elves)

(a) Comments on Class Discussions & Critiques from Prior Classes
(i) Reasonable Considering the Terms of the Grant: Both cases we read begin with  language.   Proposed use is literally within the grant, so it’s hard to argue that this test isn’t met.  In practice, a court seeing a huge increase in the burden or a big change in the “quality of the use” might stop the use anyway.
(ii) Evolution Not Revolution:  This depends some on some factual points not provided in the problem:

· Was the cottage being used for toy manufacture beforehand?  If so, change from trash from a business in a small building to trash from a business in a large building might seem like evolution because easily foreseeable.

· Was there a change in the nature of the garbage?   If more of the same, more likely evolution.  If banana peels ( toxic plastics & paints, arguably revolution. 
· Note that the change from a small residence to a factory might seem clearly to be revolutionary, but focus is really on use of the easement, not the use of Elf-Acre.  If change to a factory doesn’t greatly affect S-acre, probably not a revolution.  

Note that it is OK to suggest the possibility that outside facts might affect the problem so long as they aren’t inconsistent with what I’ve given you.
(iii) Burden Not Significantly Greater Than Contemplated by Parties:  We discussed at length in class that you need to know what has changed about the process of going to the dump to determine how much the burden has increased.  Seven times more quantity may mean seven times more trips on a much bigger truck or the same number of trips in the same truck with more stuff in the truck or a change from an elf on foot to a vehicle.  Need to look at # of trips; method of transport; type of waste. Also need to remember that burden has to increase significantly to stop elves.  Many prior students were more certain of an increased burden than could be supported by the language of the problem.  Not helpful to overstate your case on exams.  
(iv) Estoppel Arguments:  You weren’t asked a question that really gave rise to this issue, but a number of critiques from prior classes discussed possible estoppel arguments. There is no basis for an easement by estoppel here, which arises when the holder of a license detrimentally relies on the owner’s knowing acquiescence in a particular use of the license.  Here, since the elves had an easement, not a license, they had a non-revocable right to cross Santa-acre for activities within the scope of the easement.  They can’t rely on the fact that that Santa did not stop them when he saw them building a factory, because he had no right to stop them until they actually were using the easement for something arguably outside its scope.  


A softer version of the estoppel claim that might have more weight is that they deliberately negotiated a broadly worded easement and relied on that broad language when they built the factory.  A court might find that persuasive as long as there wasn’t evidence that the elves had tried to deceive Santa as to their plans.  This kind of argument also carries weight if the dominant tenement has been sold:  If Ideal Toys buys Elf-Acre, they should be able to rely on the broad language of the easement to ascertain their rights.

(v) Miscellaneous
· You can make arguments based on ordinary principles of contract interpretation like interpreting ambiguous language against the drafter or against the more sophisticated party.
· Necessity is not part of the scope analysis. Elves own then right to cross Santa-acre; availability of alternatives doesn’t legally matter.
· Unlike railway and utility easements in the cases we read, this type of easement is unlikely to be common, so court will probably not be worried about policies relating to efficient use of land, but rather policies related to who should bear burdens in drafting easement language and not discouraging the use of easements.
 (b) Student Answer: This answer was written in a ten-minute time limit; I’d obviously expect more if you have twenty minutes. This class did not read any of the cases we studied in 2015.  Generally, the scope of an easement is limited to the use for which it was created.  The easement agreement contemplated a certain level of usage which was based on the amount of garbage thrown out by cottages.  A factory may have increased the scope of the easement since factories generally will have more disposable wastes than cottages and will require more usage of the path.


In addition we must consider if the factory was an evolution of the cottages or a revolutionary change from the original agreement.  If the cottages were used for making toys then a factory may have been an evolution of technology and contemplated in the original agreement.  However, the cottages may have been summer homes used 3 months out of the year and the factory was a revolutionary change and increase in the scope of the original agreement which would not be allowed.

(2) Review Problem 5B (S127) (Antenna ( Satellite Dish)

 (a) Comments on Class Discussions & Critiques from 2014 and Prior Classes:  For the Class Discussions and Critiques in this problem, I asked you to apply the cases, rather than using the blackletter tests directly.

(i) Fundamental Tension: Language v. Purpose

(A) Language Arguments:  Both cases start with language. Grant literally says “antenna.”  Marcus Cable says look to ordinary meaning of language; probably for ordinary people, dish isn’t “antenna.”  However, engineers have repeatedly told me that, as a matter of engineering, dish in fact is a form of antenna.  Technical argument like this accepted by Marcus Cable dissent, so could be allowed by another court, but is rejected by the Marcus Cable majority.


Note that there is a difference between literal reading of language (which might include both the technical arguments above) and ordinary meaning, which is how a layperson would understand the grant.  You want to be careful using the term plain meaning, which courts sometimes use to mean a literal reading and sometimes use to mean ordinary (e.g., Marcus Cable says “plain ordinary… meaning”).  Where the literal and ordinary meanings might be different, plain meaning is ambiguous.
(B) Purpose Arguments:  Under arguments focusing on purpose and/or evolution v. revolution, M has a strong argument that this is simply a technological update of the way to fulfill the purpose of achieving television reception.  Both cases explicitly endorse this kind of updating of easements, although similar purpose may not be enough to allow a proposed use if the burden increases significantly or if the language appears to exclude it.
(C) Possible Resolutions:  A court could resolve the tension between these approaches in a number of ways:

· Conclude that purpose arguments only matter if language is ambiguous, and rule that “antenna” is not ambiguous.

· Decide that where the purpose of the easement is also part of the explicit language of the grant, as it is here, it either (A) will allow changes that contradict the literal language (regarding the activity allowed) that are consistent with the purpose (which Marcus Cable does), or (B) will read “antenna” to mean “antenna or whatever  the current technological equivalent is.”

· Entertain purpose arguments so long as nothing in the language of the grant suggests that the parties expressly rejected the proposed use. 


(ii) Burden Arguments: Chevy Chase says that a proposed use that dramatically increases the burden on the servient tenement will be rejected, and it seems unlikely the Marcus Cable court would disagree (although that case does not discuss burden at all).  Here, it is possible that the dish M wants to use will interfere with D’s own reception or electrical signals or block views
 from D’s house (or from other key locations on the lot) or damage the barn or require lots of service on D’s land.  Whether the resulting burdens would be too much is a fact question not resolvable from the language of the problem.  Faced with this uncertainty on in a test Q:

· Note briefly that the facts given are not conclusive and that an increase in burden has to be pretty substantial to stop the proposed use (Chevy Chase: so much greater that it’s effectively a different easement).

· Discuss whether particular inferences from the facts might be more reasonable.  E.g., 

· I think significant interference with view is unlikely b/c dish would have to be much bulkier than antenna and sitting exactly in an important sight line.

· Extra service for the dish seems likely to be a more common problem, My experience tallies with the student claim that dishes are quirky and troublesome.  However, you’d still want to try to defend that there’d be enough additionasl service to meet the legal test.

· Be careful about relying too heavily on empirical assumptions. Here, many prior students expressed great certainty (without much defense) that there was no increase in the burden; many others were equally certain that the burden was enormous.  

(iii) Interesting Arguments from 2014:  

(A) Grant gives M right to TV reception, not to the best reception possible.  This is pretty clever, although I’m not sure how well it really would fly.  It fits best with MC view that you derive purpose from the language of the grant.  That could imply that the dominant holder isn’t entitled to upgrade so long as the present technology functions.  By contrast, the thrust of Chevy Chase suggests that you can upgrade to fulfill purpose so long as the kind of use remains similar and there are no significant additional burdens.

(B) Read grant narrowly in favor of Sevient Holder b/c relatively easy to renegotiate a two-party easement.  This is a sensible way to distinguish both MC and CC.  A court is more likely to accept it if it believes it needs to protect Servient Os from constant upgrade demands.  A court is less likely to accept it if it believes it needs to protect Dominant Holders from Servient Os trying to treat every minor change in the use of the easement as an excuse to try to extort a higher price.
(iv)  Problematic Arguments

(A) The Parties Did Not Contemplate a Satellite Dish/D Would Not Have Allowed a Satellite Dish:  Satellite dishes didn’t exist in 1962 (satellites barely existed in 1962). The cases (even including Marcus Cable) say that the fact that the parties didn’t think about non-existent technology does not preclude holding that technology within the scope of the easement.  Relatedly, the doctrine doesn’t seem to suggest that we try to guess what the parties would have done if they’d been informed by a psychic engineer that satellite dishes would appear in the late 1980s.  Even the blackletter test that talks about “contemplated by the parties” focuses on the extent of the burden they intended in 1962, not on whether they contemplated the precise technology at issue.
(B) “She’s Doing Him a Favor”/No Necessity to M:  Some of you argued that D shouldn’t have to allow the proposed use because “she was doing him a favor” and so she should get to decide what he can do or because the proposed use wasn’t really necessary for him to get television reception. Important to remember that an easement is a property right that the dominant owner has in the land of the servient owner.  The question in a scope case is “What are the exact parameters of that property right?”  M’s interest is not the result of “a favor,” but of an explicit grant of a property interest (for which M might have paid $$).  She doesn’t get to change her mind.  Similarly, he doesn’t have to show the proposed use is necessary if it is within the scope of the existing right that he owns. 
(C) Benefits to the Parties or the Public:  If you want to argue that a court should adopt a particular interpretation of the easement because of benefits to the public or one of the parties, you need to explain why that benefit is relevant to the legal tests.  Marcus Cable explicitly rejects benefits to the public as a consideration because it views the question as essentially one of interpreting a private contract.  Chevy Chase says particular benefits to the servient tenement holders (access to the trail) are relevant to the question of increased burden. Best version of this might be to argue that (when looking at versions of the second or third blackletter tests) a significant public benefit might outweigh a slightly increased burden or a slight change in the form/quality of the use.
(D) Settlement Options:  This question does not call for a discussion of settlement options, so unless you can make the existence of options relevant to the legal doctrine (see (iii)(B)), leave them out of this kind of question. 


(iv) Additional Curious Point:  Most students in 2010 and 2014 critiques referred to the satellite dish as satellite rather than dish.  This seems imprecise (and very odd) to me:.
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(b) Comments on Fall 1998 Exam Answers:  [Spring 2016: The Fall 1998 class read neither Chevy Chase nor Marcus Cable].  Here, I looked for application of some of the several tests we studied for determining the scope of easements.  The best answers discussed more than one test, made arguments for both sides, and used some policy to try to resolve the issue.   In addition, they speculated some about possible facts not presented by the problem that would make a difference here  like the size of the dish.  The two model answers are both very strong.   
(c) STUDENT ANSWER #1: Since it was written — express easement.  Generally, scope of express easement is limited to the use it was created for.  Courts look at language of easement and surrounding circumstances to determine intent when question of scope of easements arise:


Is use reasonable considering terms of grant? This depends on language and circumstances.  Language expressly states "antenna" so D would argue she only agreed to have antenna on her property.  The change should not be allowed.  However, M can contend that the language is explicit but that was in 1962 (is this even in color?)  The reception has not gotten any better but the technology has. He can argue that this is merely an evolutionary change. The easement was to provide better reception; since the method then was antenna, they wrote antenna. However, this use has not changed. Wasn't it reasonably foreseeable in 1962 that he may need other means for reception in the future? 


D would argue that the use is revol. change.  Antenna:  provides reception.  Satellite dish: crystal clear plus HBO (not the same thing!!) (Check if termination clause: if other than antenna, the end?).  Burden, she will argue, is significantly greater than contemp. by her when she made the agreement. An antenna is smaller, less obvious than a big ol' satellite dish. Does it matter that she is on top of the plateau—add to burden?  She will contend sat. dish is bigger and uglier and more obvious, so it reduces the appeal of her ranch house, etc.  She will state that the phrase "owners of Cyracre" means she may have to do this (maybe just friendly agreement betw neighbors?) for next owners and she might have agreed to that if it was antenna, but not satellite dish.  Mike, on the other hand, will state the dish will be on the barn so may not be a big deal.  Is the barn empty?


Strongest argument is that it can be seen as evol. change.  She should have foreseen it; could have entered a protective clause in easement (e.g., term if not antenna). Courts will promote specificity in easements if decide this.  Fair?  Should they contemplate everything? Not feasible at times. Can't imagine all possible tech. advances.

(d) STUDENT ANSWER #2: Mike first off faces three potential problems. The payment of damage from overuse, an injunction preventing misuse; and finally a termination if the court considers TV a profit.  Mike will argue that the satellite is still an antenna in a broad sense because its purpose is to get TV reception just as an antenna. Secondly, he'll argue under Kuras that the change is evolutionary not revolutionary because both parties know that as time went on technology improved, and that the easement needed to adjust over time as technology did. As technology evolved so did his TV needs; and as such he needed to broaden the antenna concept in the express agreement to a satellite dish.  For him his reception was not great and since the purpose of the easement was to effectuate his best reception, it would be only natural that as greater improvements in TV would come out, he would want to utilize them.  There is also no evidence that the satellite dish would damage the barn, in the case of a mini-dish it might actually be smaller, but a less of a burden.  


Why would she object?  Most likely because she foresaw a problem with Mike's dish. It is unlikely that the dish was less of a burden, which it could be, and she could be some Luddite, but not likely.  There is no evidence here that it is not a burden and many dishes are bigger than antenna and could cause damage to her roof (which it is unlikely that she would have intended).  Since the agreement began in 1962 she would argue under Kuras that, as seen from that viewpoint, that a dish was a revolutionary change, and as such should not be allowed because she didn't want that on her land.  Secondly, she will argue that perhaps the dish is revolutionary under modern times because it could be an eyesore and ruin the value of her barn, and that she would be able to terminate the  misuse where TV is a profit because it is something useful (reception) gathered from her land and that the dish is a clear misuse. 

Mike will say that from a policy perspective a court should be forward thinking allowing agreements to be flexible so over time they allow the purpose of the agreement to be satisfied. Debbie will argue that as a matter of policy courts should only do what was expressly intended in the agreement, especially where the purpose is still being satisfied by the antenna (reception crummy, but still reception), because over-reading the contract could force landowners into agreements they never intended or wanted, damaging their right to enjoy the land.

(3) Review Problem 5C (S128) (Reverse Evolution)

(a) Professor’s Comments: I rewarded students who used and clearly understood the cases and the blackletter tests, who identified strengths and weaknesses in both parties’ positions, and who tried to assess the problem as a whole after discussing tests and cases.  

(i)  Application of the Tests:   
(A) Reasonable Considering Terms of Grant (Plain Language):  The cases say this is the starting point.  The language of the grant provided a lot of room for discussion here (and good opportunities for many of you to demonstrate that you don’t read carefully).




1. “in vehicles or on foot”:  R would argue that, reading the grant literally, J will be on horseback, which is neither in a “vehicle” nor “on foot.”  Aside from arguing that the language can be stretched to fulfill the purpose, I see two ways around this:





a.  Argue that the horse is a vehicle
:  Many students argued this, which is not completely crazy.  One of the dictionary definitions of vehicle is “mode of transportation,” which may be especially pertinent if the area around Rhodes-acre has lots of people riding horses, and which seems consistent with the broad reading of a transportation easement in Chevy Chase.  On the other hand, the ordinary meaning (Marcus Cable) of vehicle probably is something mechanical, probably with wheels.  
Two other problems with reading vehicle to include the horse:

· The parties chose to specify “in vehicles or on foot” implying that some modes of travel are not permitted.  If a vehicle means any form of transport, what is excluded by the language?  

· The grant says “in vehicles.”   J will not be in the horse, but on it.  This language suggests vehicles means cars, trucks and the occasional sleigh.  On the other hand, this reading of the grant would also exclude bicycles and motorcycles, which seems odd.



b. Argue that the horse is on foot:   Again reading literally, the grant permits “[t]hose living on Carr-acre” to cross Rhodes-acre “on foot.”  The horse is “living on Carr-acre” and will be “on foot.”  R of course can argue that the ordinary understanding of those living would be humans.  She also could say that, even if the horse is on foot, J is not.  However, it seems unlikely that if J chose to cross on foot while carrying her baby that R could object that the baby wasn’t on foot or in a vehicle.




2.  “for access to and from Hungerford Highway and for exercise”:  The two uses J is making of the easement seem to exactly fit what is allowed.  She gets access to the highway to ride along it to do errands and she does daily exercising along the jogging trail.  Several students argued that horseback riding isn’t (human) exercise; I think anyone who does it would disagree (ask the real Jorie).  In any event, it is exercise for the horse (which raises the arguments above as to whether the horse counts).  Several students also pointed out that a court might well allow the easement owner to walk their dog on the easement (arguably exercise for both) and this isn’t really different, at least as far as the language arguments go. 

(B) Burden Greater Than Contemplated by Parties:  Under this test, you needed to identify possible additional burdens on the servient estate that J’s use would create, assess how serious they might be, and compare them with the burdens R could reasonably have expected.  You might note the Chevy Chase language suggesting the burdens are too great if the proposed use creates a “different servitude.”  



As most students recognized, the most important concern is likely to be droppings
 and accompanying smells, flies, health concerns etc.  Several of you suggested that this burden could be lessened if J could clean up after herself and a couple of people suggested there were devices a horse could wear to catch the droppings.  I also think that the significance of the droppings varies with the type of driveway involved.  If it is a long unpaved road in a field where other animals live, droppings are a much less big deal than if it is a paved driveway in a well-groomed suburban yard.  




Other concerns included noise, the effect of hooves on a paved driveway, and privacy (a rider is much higher than a driver or a jogger and so can see more). Other concerns (wandering off the driveway; grazing or eating garden plants; allergic reactions) I found unconvincing because the horse has a rider to control it and they are just crossing the driveway, not using Rhodes-acre for pasturage.  In any event, if the horse causes damage off the easement, R can get damages and an injunction preventing a recurrence. Finally, as some students pointed out, in the unlikely event that horses are common in the neighborhood, then R might have anticipated it all.  



(C) Evolution v. Revolution:   This problem arguably involves devolution:  a move toward an earlier less sophisticated form.  Many students argued that it therefore failed this test.  However, the test does not require that the proposed use be more advanced than the original use; it is about the speed of change, not its direction.  Thus, in this context, evolution means gradual change naturally flowing from what came before.  Revolution is rapid drastic unheralded change.  



Chevy Chase, applying a version of this test, approved a devolution from trains to unmotorized hiker/bikers.  You could follow the logic of that case here, arguing that this is a transportation easement and horses are a form of transportation.  Indeed, as I think we discussed, some easements originally used for horse-drawn conveyances were held to permit motorized vehicles.  Thus, a move in the other direction is not implausible.

Other ways in which the proposed change might be similar include things like the likely number of crossings and/or amount of time spent on the servient estate and the number of people/families using the easement.  Arguing that the change was revolutionary basically required explaining why some of the potential burdens discussed above might make a substantial difference to R.  Explanation is of course necessary; merely asserting that a big animal is a really different from a car is insufficient.  For this purpose, the horse and car are probably more like each other than either is like a 747 or like the residents of an all boys prep school that might be built on Carr-acre.


(ii) Other Issues


(a) Necessity as an Aspect of Scope:  Many students discussed whether J needed to use the easement.  Necessity is generally not relevant when addressing an express easement.  It doesn’t matter whether J has other options. Along with her fee interest in Carr-acre, she has purchased the right to use Rhodes-acre for particular purposes. The only question here is whether her proposed use was included.  As far as I can see, the only time necessity might appropriately become part of a scope discussion is if one of the original parties to the easement claimed that a particular use of the easement was necessary to him and the other original party knew this when they reached the agreement.  That would mean the use was almost certainly intended to be part of the easement.  However, this argument would not apply to a subsequent purchaser like J.



(b) Appurtenant v. In Gross:  Many of you discussed whether the easement was intended to run to successors.  You have no information that suggests otherwise.  First, express easements are presumed to be appurtenant. Second, the easement grants rights right to “[t]hose living on Carr-acre” with no limitation as to time, particular individuals, or even species.  If you were trying to create an easement in gross for Christina, you would not use this language.  Third, even if R, in the deep recesses of her powerful mind, intended an easement in gross, she doesn’t get to raise that in the face of plain language to the contrary.  Finally, some of you argued there might be other language in the easement that created some further limitation.  While that may be true, you shouldn’t spend a lot of your limited time on an issue I didn’t put into the question.  If I wanted you to address this, I’d have given you a fact or two to work with.



3.
Implied Easements: The problem provides no basis for discussing implied easements.  There is no division of a parcel to support Easements-by-Implication or Necessity.  Not enough time has passed for a Prescriptive Easement.  No Estoppel, b/c you have no evidence that R has provided any kind of permission or that J has detrimentally relied on being able to use her horse (the house purchase cannot constitute detrimental reliance unless, before the purchase, R told J she could use the horse on the easement.

(b) Student Answers:  Both models are very strong, with two-sided discussion of each of the tests ands some solid overall points at the end.  I think the first model is stronger on the discussion of the possible burdens and the second is a little stronger on evolution/revolution.  In the concluding passages, I like the possibility of a partial injunction raised in the first and the use of policy arguments in the second. 

Student Answer #1:  Language of Easement:  Easement is express; the language in this easement seems to show intent to bind future residents of C-acre by using word "Those" instead of referring specifically to Christina as the party who created the grant.  Therefore it would seem that the benefit runs to Jorie.  

The tricky part is the horse:  the grant conveys usage for "vehicles" or "on foot."  Is a horse a vehicle?  Robyn can argue that no, absolutely not, her and C intended for a vehicle to be a car only, especially b/c the path is a driveway.  J will argue that many other things are vehicles and can be vehicles, including a horse, and that she shoudlnt' be penalized for using a different (and more earth-friendly!) choice of vehicle.  
Also difficult is the restriction in the grant that says the path may only be used for access to HH and for exercise.  J uses the path to get to HH sometimes, but Robyn can argue that riding the horse in the morning is not for exercise, after all, it is not primarily used to burn calories and get fit.  J will counter with the fact that riding horses is considered a sport and many people do participate in it thinking it is exercise; after all it does require a level of activity and being outside in the fresh air.  
Some courts would stop here and interpret the easement with the plain language on its face (See Marcus Cable).  Due to the ambiguities in the langage, many courts will continue to other blackletter tests to determine enforcement.

New Use Evolutionary, not Revolutionary:  R will argue that use is not evolutionary at all; in fact is a throwback to the olden days before cars!  Who runs errands on horses after all; does the nearest village have hitching posts on Main Street for J's use?  J will counter with the fact that this test focuses on the change in use, and using a horse rather than a car is not something that is so completely revolutionary that R could not fathom it every happening - in fact, R was probably well aware of the use of horses for transportation since it has happened for many years.  Sometimes police officers still even ride on horseback.  This is probably the weakest part of the test for both.  J will probably win on this part b/c using a horse instead of a car is no such a huge change - similar in size to many cars, etc.

Burden on Servient Tenement not greater than the parties Intended:  This will probably be R's strongest argument (if she does not win on clear language).  She can argue that the burden on her is larger than anticipated b/c DD makes a lot of noise when he crosses her property on the path ("Clop clop").  If the path is paved, this argument is even stronger.  If the driveway is not paved, it depends on type of ground for amount of noise.  J can counter by saying that horse makes less noise than a loud car driving by.  R can counter by saying that his crossing the driveway takes significantly longer than a quick, speedy little car zipping by, so she is inconvenienced by the length of time the noise is around.  Also, if DD makes other noises like "neighing," this could be a lot louder.  J can counter with likelihood of car alarms and car horns from prior use.  

If J rides much earlier in the morning, this could also make a difference if R enjoys sleeping in or values her peaceful morning times.  Furthermore, it might irritate R to see J right there every morning in her driveway, while a car provides more privacy and R won't feel like there is a person sitting there watching her.  On the other hand, if J doesn't bother R or greet her when riding, J can claim that this isn't a problem b/c R can just ignore her.

If DD leaves behind excrement in the driveway, R can complain about this causing odor and filth on her property.  J would have to counter that DD either wears one of those special excrement - catching bags or that she cleans up after him.  

Overall:  In the end, much of this depends upon the court that hears it.  Some courts favor literal interpretation of easements, in which case a vehicle probably does not encompass a horse and exercise might not encompass riding.  If however a vehicle is allowed to encompass a horse, but exercise is not riding, then J may only get a partial injunction.  If the court goes further to interpret based on burdens and changes in use, then R probably has less of a chance of winning.

Student Answer #2: First, this express easement will run with the land.  Since the language mentions "those living on C-acre", rather than C specifically, the easement will likely be considered appurtenant (attached to the land), rather than in gross.


Next, let us consider whether riding a horse across the easement is reasonable, given the language of the easement.  J can argue that the language allows access by foot and in vehicles, as well as for exercise.  A  horse technically has feet, and serves as a vehicle insofar as it transports the rider over an expanse of land.  Furthermore, riding a horse is often done for exercise (albeit of the horse, rather than the rider).  This is a very literal reading of the language.  R can retort that horses and animals were not mentioned, and were probably not even contemplated by the parties, since C used the easement for jogging purposes.  Thus, vehicle should be read to exclude animals, referring to some sort of machines with wheels (cars, bikes, etc.), whereas "on foot" referred to human beings physicall walking or jogging over the easement.


R will also have a strong argument by pointing out that riding a horse over an easement is hardly evolutionary:  it is revolutionary.  A horse is not a new, technologically improved vehicle which might implicate evolution:  to the contrary, it is de-volution.  Since R arguably contemplated C crossing the easement while jogging or driving when traffic was a problem, allowing a horse on the easement is a different beast entirely.  Horseback riding, in modern times, is relagated to a recreational activity, and is a long ways off from what R had in mind when she made the easement with C.  J, however, can use Chevy Chase to her advantage.  There, a former stretch of railroad track employed for hiker/biker (recreational) purposes was deemed OK.  If a train easement changing ("devolving"?) into use by hikers/bikers is OK, then why shouldn't an easement for "vehicles" and human joggers/walkers be treated any differently when compared with horses?  In addition, J could point out that "for exercise" implies recreational uses:  jogging is, after all, merely recreational.  Thus, moving from jogging on foot to trotting on horseback is not that big of a stretch, and is quite evolutionary.


R, however, may point out that her burden will be much greather than contemplated at the time she created an easement with C.  First of all, horses produce manure.  They (and their manure) attract flies, and that is not a burden the parties had in mind when considering C driving or jogging over the easement.  R will also point out that a horse is, after all, an animal, liable to being spooked and running amok, possibly causing serious property damage and personal injury to her (never mind J!), much more so than a car or human being jogging.  But, J may reply that driving a polluting SUV or car over the easement also causes health risks, and a car could actually cause more damage to the property than a horse.  A car, of course, weighs more, creating more land erosion, and chemical exhaust fumes are much more hazardous to humans than horse manure.  Furthermore, a car accident will likely cause much more damage to the property than a horse running amok.

Significantly in this problem, R is one of the original parties who created the easement.  She can thus easily testify as to her intent in court.  However, in the end, a court will have to closely examine the easement's language, which R cannot change by parol testimony (though she can testify as to the circumstances of its creation).  After all, if the easement allows 1) walking and jogging, and 2) driving vehicles, then what's so bad about allowing horseback riding?  If R is so anal-retentive about abolishing horseback riding, why couldn't she expressly state in that language that "this easement is not to be used for any other purposes", or something to that effect?  On the other hand, a court should be very reluctant about reading distant contingencies not foreseeable at the time the easement was created into the document.

(4) Review Problem 5D (S128) (Artists ( Athletes)

(a) Professor's Comments: This is an example of one common type of scope-of-the-easement problem that I noted in class:   As in Chevy Chase, the language of the grant is extremely broad, so the court really can block the challenged use of the easement only if it is much more burdensome or too "different" from the old use.  Also as in Chevy Chase, the challenged use involved both different users and different activities.
In grading the 2013 exam answers, I rewarded good understanding of the blackletter tests and the cases; recognition that the language of the grant strongly supported the challenged use; two sided, well-defended arguments about burden and evolution/revolution; identification of key issues and significant factual Qs left open by the problem; and use of policy arguments to help resolve the dispute.  Additional comments I’ve added in response to the 2014 Critiques are in Arial Narrow font.

(i) Language Arguments/"Reasonable Considering Terms of the Grant”


A. General Sense of Test:  Both cases say you begin analyzing scope questions by looking at the language of the grant. As explained below, AA should concede that GA's use is within the language here.  Many students were confused about this blackletter test and/or what constitutes an argument from language in one or more ways:

· Intent/Purpose: Arguments that the challenged use of the easement is inconsistent with the parties' intent or the "purpose" of the grant are not language arguments.   Marcus Cable uses the language of the grant to determine its purpose, but does not suggest that you can use a purpose argument to bar a use that is within the literal language.

· Reasonable: The blackletter test looks at "reasonableness" only in comparison to the language. I.e., is the challenged use a reasonable interpretation of the terms of the grant? Nothing we read suggests asking if the challenged use is "reasonable" in the way you might use the term in a tort case (such as a reasonable person or cost-benefit analysis).

· Normal/Ordinary:  In adverse possession cases, we ask about the normal or ordinary use of particular kinds of land.  However, we don't strike down a challenged use that falls within the language of an easement because it is not the ordinary use of the land (e.g., very few people have hiker-biker trails running through their back yards). Marcus Cable says to look at the ordinary meaning of the language, not the ordinary use of the land.

B.  Acceptable  Users?   The language explicitly allows for parties other than DI to use the easement. As we noted briefly in conjunction with the language in Chevy Chase, the phrase "successors and assigns" means "anyone to whom DI transfers its rights." Because we didn't really focus on this language, I gave a little bit of credit for claims that GA was too different to be considered a "successor."


As some students cleverly noted, other language also supports GA.  The word "pupil" might be read to limit the kind of successor that can use the easement, but GA has pupils.  Moreover, the word "employee" (as opposed to, say, "instructor") strongly suggests that the grantor didn't intend to limit use of the easement to art students or artists; DI's secretaries and janitors would have been included in that term.

C.  Acceptable  Activities?   During "daylight hours," the dominant tenement-holders are allowed to "use" the beach and the driveway.   The grant places no explicit limits on the types of activities that can take place.  For example, nothing says the driveway has to be used only for access to the beach.  Moreover, even the most limited meaning of "use ...  the private beach" surely would include swimming. Some students argued that a court should not allow uses that were not explicitly permitted, but that is inconsistent with using the ordinary meaning of the language, with the way Chevy Chase read the railway easement, and with the actual use of this easement for art activities by DI students.

D. Other Language Arguments:  You were asked if AA could stop athletic activities by GA students. It was not especially helpful to discuss possible instances of literal violations of the easement.  Of course AA can enjoin GA students from running at night or off the driveway or from inviting their families onto the beach to watch them swim. However, violations of this type won't allow AA to stop athletic activities generally unless the violations seem an inevitable part of the activity or they happen frequently.


(ii)  Burden   Significantly Greater Than Contemplated by Parties
A. General Sense of Test:
1.  Specificity:   To  be  persuasive, AA's  burden  arguments  need  to be  specific.    Many students   claimed that GA students   would  be  "more   disruptive" or  would  have  "less respect  for the property."  Given that GA has the language arguments on its side, I think these claims are too vague for a court to use as the basis for an injunction.
2.  Non-Trivial:  A court  is also  unlikely  to grant  an injunction  based on  a very  minor increase  in  burden.  The Blackletter   test uses the word "significantly" to describe the necessary increase.  Chevy Chase says the increase must be "unreasonable" and must effectively result in a "different" easement.    Thus, if 50 DI students used the easement each week, AA probably can't stop GA simply  because that number has increased  to 55. AA will have to defend that any increase is significant  or unreasonable.
3. Significant Points Generally  Relevant  to Burden Arguments:
· Supervision:   The  problem  doesn't tell  you whether  the "athletic  activities" will be  directly  supervised by  GA  staff.    Presumably, if  the  students  only  use  the easement   while  accompanied  by  a  Gym  teacher,  the  likelihood   of  significant problems decreases  dramatically.  Of course, it might have been true that the DI students also had a teacher/supervisor present when they worked on the easement.
· Setting:  Silver-Acre  is a "large  wooded  lot"  and the  house  must  be far enough from  the beach  that  having  a split  driveway  makes  sense.   I rewarded  students who took the setting  into account  when making  burden arguments.   For example, of course  groups  of students  running and swimming are louder than  individuals drawing  and painting,  but  if the  house  is a quarter  mile  from the beach  and the relevant part of the driveway,  would AA's family hear the difference?
· Evidence:     GA  students   apparently have  been  using  the  easement  since  "last year." Thus, AA's case is stronger if he can show any evidence  of actual harm in that time period.
B. Acceptable Users?  DI students  were college-age art students;  GA students  are "troubled teens"  who  have  completed  high  school  and are spending  a year  preparing  for college.    Do the differences between the two groups suggest  significant  increases  in specific burdens?
· Greater  Risk  of  Security/Safety  Issues:  Absent  evidence   of  actual  problems,   this claim  probably  would  be  based  simply  on  stereotyping.    If  the  GA  students   are generally  supervised,  this  concern  should  disappear.    The  strongest  versions  of this argument  for  AA  probably  would  be  claims  that,  because  of the stereotypes,  his family feels much more insecure or his property value has declined.
· Age: Many students argued that several different types of burdens probably  would be greater  simply because  the GA students  were "less  mature."   I am very skeptical that this difference  would be significant.  Most GA students  presumably  are the same age as most  college freshmen, which  is the same  age as the youngest  segment  of the DI population.  You would need to show a convincing reason that a group of 18-19 year olds would be much worse than a group of 18-23 year olds.
· Greater  Risk  of  Drug/Alcohol  Use:   A lot of students  thought the troubled  teens probably  would  engage  in more substance  abuse  while on  Silver-Acre.   Possible, especially on the beach, but not all that easy to do while running and even harder if you are supervised.  Older art students might find it easier to get alcohol and easier to drink or smoke while sitting and drawing.  (see 1st model) Moreover, at least when I was in high school, the stereotypes strongly connected art students with pot.

C.  Acceptable Activities? DI students sat still and did art. GA students are running and swimming.  Do the differences between the two sets of activities suggest significant  increases in specific burdens?
· Numbers/ Time on Land:   You need more information about how many students are      involved and how long they stay.  Runners could be there for 15 minutes three times a week and sketchers for three hours every afternoon.
· Noise:   Possible,  but need to defend extent of noise increase. Could happen simply with   groups   of   young   people  exercising   together,   but  running/swimming   not inherently noisy activities like cheerleaders or a marching band. (See 1st  model).   If GA students  horsing  around or fighting  along with athletics,  could be more noise. (See 2dmodel).
· Damage to Silver-Acre:  Lots of use by swimmers might harm the beach.   Unlikely that runners are going to harm a paved driveway; they aren't  bulldozers. Increase in harm  from  vandalism  would  not  result  from  the activities,  but from  the  different students and was addressed above.
· Privacy:  Generally  would depend on number of students on land, distance  between easement and house, and on types of activities AA's family engages in.  Lots more students using the beach probably would interfere with family activities there.  (see 1st model) On the other hand, quiet sketchers sitting for a long time make much better Peeping Toms than groups of runners. (See 2d model).
· Litter:   Again, a hard call without evidence.   Swimmers might make messes on the beach, but might be wearing only speedos and carrying only towels (so not much to leave behind).   Similarly, runners may not stop or drop anything on land at all, but a guy sitting in one place sketching for 2 hours might leave empty bottles, crumpled paper, banana peels, etc.  (See 1st model)
· Risk of Harm to Students/Increased  Liability:  Athletic activities will certainly mean more injuries to students,  but not clear to me why that is a burden relevant to AA. Quite a few students  suggested that these injuries would result in increased liability for AA.  I'm  not sure why AA would be liable rather than GA, which is allowing its own students to use its own easement for these activities, but I don't know a lot about tort liability in the context of easements, so I gave a little credit for this point.


(iii) Too Different/"Evolution not Revolution"(ev/rev)/ Chevy Chase: "Quality  of Use"   This test focuses on whether the challenged use is too great a change from the prior use.  Despite the ev/rev  language,  the concern  is the  nature/extent  of the change, not the speed  with  which  it occurs.   Changes in the scope of the easement rarely are gradual or incremental:  horses do not morph slowly into cars and trains do not gradually dissolve into hiker/bikers.
In applying this test, many students unfortunately just employed conclusory rhetoric.  Saying that X and Y are "completely different" or "essentially the same" really tells us nothing.  Instead, you should describe the similarity or difference with specificity, which often will lead to your echoing some burden arguments. (see 1st model).  A couple of common categorization errors arising from use of overbroad language:

· Many students referred to the “troubled teens” as delinquents and to GA as a “reform school.” The problem doesn’t specify the teens’ troubles, which might plausibly include issues such as criminal activity, mental health problems, being bullied, domestic violence, or learning disabilities.    Might simply discuss effect on result if many of the teens have criminal records and the effect if none of them do.

· Many students referred to the DI students as “college students,” but the problem only says they’re “college-aged” and described DI as an art school, not a college. This characterization is particularly problematic because the GA students, unlike the DI students, are all planning to go to college.

In the alternative, as in Chevy Chase and the other railway easement case, you have to characterize the relevant  activities  in a way that makes the similarity  or difference  apparent. Thus, Chevy Chase says both trains and hiker/bikers are modes of transportation.  The other case contrasts a "commercial enterprise using the easement in its business" as opposed to "public  ... use for recreational purposes."  A few characterizations I liked from your answers:
· Both are "typical spare time activities for students"
· "Solitary still silent concentration" v. "Group dynamic commotion" 
· "Quiet work" v. "Vigorous workout"
(iv) Possible Policy Concerns:  Some of the policies we discussed in the context of the cases and problems don't necessarily fit this problem well.  For example, unequal bargaining power, bait​ and-switch tactics, and who drafted the easement are much less important regarding a document drafted decades ago where neither original party is part of the dispute. Two policy arguments  I particularly liked for this problem:
· Reliance:   As Marcus Cable argues, when an easement is narrowly  drafted, adhering to strictly to its terms protects the reliance interests of purchasers of the servient estate, who arguably  should  not be stuck  with  burdens they did not knowingly  accept  when  they bought their land.  By contrast, when an easement is very broadly worded, the purchasers of the  dominant  estate  may  have  greater  reliance  interests.   Here, GA  may  have purchased DI because it included the easement that could be used for athletic activities and, as a result, may have either paid more or foregone other possible purchases.  Thus, we  protect  GA's   reliance  by  allowing  it  to  use  easement  consistently  w  a reasonable reading of its terms.
· Protect Charitable Gifts:  Unlike many easements, this one was a gift to an educational institution. 
If  we  interpret  it  broadly  in  a  way  that  appears  to  harm  the  grantors descendants,  we might discourage similar grants in the future.   We thus should require less showing of burden before stopping the challenged use.
(v) Other Common Problems

A. Limited  Relevance of Intent Arguments:  Many students argued that the grantor intended only to provide a place for DI/art students to engage in artistic activities, so the challenged use is outside the scope of the easement.  There are many problems with this argument:
1. As is true in contract law, "intent" in scope cases doesn't mean the subjective desire of one of the parties,  but rather objective  indications  of what the parties  understood  when  they entered into the arrangement.  As with contracts, one party cannot use unstated intentions (what I called "secret intent" in my comments on your tests) to contradict the language of the agreement. If the grantor really intended to limit the easement to DI or to art students, he could have said so in the grant, but he didn't.
2. The two cases both expressly reject claims by the servient holders that the challenged use is outside the scope if it was not specifically contemplated or foreseeable at the time of the grant.   The servient owners in Chevy Chase certainly did not intend or anticipate a recreational trail, but they still got stuck with one.
3. When the cases talk about "purpose," they don't  mean the specific goal of one of the parties, but instead mean the general activity the easement furthers, like "transportation" or "communications" or "business activity of a commercial enterprise."
4.  Finally, you really have very little evidence as to what the grantor wanted.  You know how DI used the easement while AA was growing up, but that was already at least a generation after the time of the grant.  It's possible that the grantor thought it would be healthy for anemic sedentary art students to spend more time out in the woods running and swimming.
B. Topics Outside the Scope of the Question:   You were told that AA's "grandfather  granted an easement  ... that included" the specific language I provided, which meant it was an express easement.   You were asked whether AA "must allow" GA students "to use the existing easement .…" The following topics were thus not relevant:
· Possible compromises between AA and GA (doesn't  respond to "must allow") 
· Implied easements (only "existing easement" is express)
· Ways the original easement might have ended earlier (wouldn't  be "existing")
· Whether the grant created an easement or a fee (described initially as an "easement"; asked about "use [of] the existing easement"; nothing in language suggests fee and AA presumably still uses part of the driveway to get from the house to the road).
(b) Student Answer  #1: Although this answer is not perfect, it was so much better even than the group of answers that earned grades of 8 that I awarded it an extremely  rare 10. The student  understood the language  arguments, had some nice ideas on evolution/revolution, and provided a terrific  discussion of possible increases in burden.  In addition, addressing the change in students  separately from the change in activities was a really good idea.
We would need to know if the jurisdiction followed Chevy Chase, whereby the court would look to all three Blackletter tests (see below) or whether it only looks at the language of the grant, as in Marcus Cable, in which case the following assessment would stop after language section.
Language  of the Grant:  The language of the grant is relatively clear about the "types" of people that can use  the  easement,  during  what  time  of  day,  and  the  areas  that  can  be  used. It nowhere  says  the "employees,  owners, pupils" need to be art or college students. The students at G are arguably different, but they are still "pupils." Additionally, the grant is silent on what activities can be done in the listed areas during the stated time.  G meets the requirements if we look strictly to the terms of the grant.
Evolution  vs. Revolution:    Student Change:   Like Marcus Cable, in that the RR and the walking/biking path was still "means of transportation"  and thus was found to be the same quality; the D and G are still both "young  individuals that are attending school (students)." However, they are different: D students are likely  more  mature  and  likely are going to the school  because they want to learn art. G students are labeled as "troubled" and likely are not there because they want to be but b/c their parents made them or it was court-ordered.  [voluntary v. not is a good idea but needs more explanation]  Yet, this change seems more evolutionary  vs. revolutionary  b/c the "change"  really isn't that drastic.  Again, still students, still under supervision, still learning, still doing school activities.
Activity Change: Similarly, even though  the activities  easement  is used for are different  between  the G  and  B students, likely  this  is a ev.  not  rev. change  because  still  little  technology,  writing  as  well  as running   and  swimming are  activities   done by  an  individual,   not  a  team  (no  communication  needed between different  people),  and there  is no evidence  that the activities  are being  done at night, instead  of during  the  day. On the other  hand,  there may be more of a revolutionary change  if the athletic  activities are occurring in more places (discussed  below).
Substantial Increase in Burden:  Students:  A says that the D students were always quiet; however,  because the G students  are younger and they  are  "troubled"  they  likely  will not be as quiet. They may not have the same understanding that they must respect A's privacy as much as D did [a little vague], just by the nature  of their age. There may also  be an increased  burden  if the # of students  at G is a lot greater than  that of D and that may have an impact  on the noise level as well as increased  risk of violation  of privacy-- (teenagers in large numbers  is a scary  thing.)  On the other hand, this is all contingent on where A's home is compared to the easement (driveway/beach). If it is very close, this is more of a valid  
argument  than  if you have to take a golf cart from the  house to the split in the driveway because it is so far.
We  probably   would  want  to  know  if  the  G  students   are  more  apt  to  do  illegal  behavior  on  the premises, which  would increase  A's risk and perhaps liability.  On the other hand it is also likely that G is not any  more  apt to do illegal activity-  like drugs (except  maybe fighting  each  other) than the D students because  1) they  are likely closely  monitored  at the transition  school;  and  2) D students  are art students​ which  most  people  assume  are  "Free  spirits"  AND  they  are  also  college  students!  Just  as  likely  to  be doing drugs
Activity:   Running  and  swimming like  painting  (see  in ev. vs.  rev.  section).  Yet,  even  though  the activities are individual,  they could  also  be part of relays- or gym class-  which  could get pretty  loud and dysfunctional.  Also,  the place  where the activity  is taking  place may change.  D students  are using the "Edge of the driveway" and sitting still on beach, but swimming might use more of the beach; and running could  be all over either  location.  If the school  is making  more use of of the beach and there is more commotion, and if A typically uses the beach on the same days-  this would  be much  more  intrusive  than  the D students. If however, he never uses the beach, then it probably  doesn't matter.
There may  have actually  been  a little  more  burden  with the  painting  in terms  of waste  left  behind. Unlike  swimming and running  which  require  no "extra  stuff/  gear/ equipment"; painting  uses  bottles  of paint,  paper,  brushes;  etc.  that  could  potentially   be left  behind.  Also,  possible  that  the  art students  got really creative and painted or graffiti’d  on the trees..
(c)  Student Answer #2: This answer is one of several that earned an 8, although it doesn't  spend much time on evolution/revolution.  However, the student did a good job on language and on understanding the legal tests and provided a solid discussion of burden
Reasonable  use considering  terms/language  of grant:  The  terms  of  the  grant  say  that  the pupils  (of Dawson's successors and  assigns)  can  use,  during  daylight  hours,  the  private  beach  and  driveway.  A literal,  ordinary reading of this grant doesn't seem to indicate any problem  with the Gudridge  Academy's students' use.  The  teens  are  pupils,  and  running  and  swimming is using  the  beach  and  driveway.  The language doesn't contain  any limitations or specific  interpretations of the word  "use,"  so consistent  with understanding that eventually  the property  belonging  to Dawson  would  be bought or assigned  to someone else, who  may not be using the beach/driveway to paint seagulls.  If the court  were to just stop  here (like Marcus Cable) there shouldn't  be any problem with the GA kids using the easement.
Evolution/Revolution:
The  transition   from  students   "quietly   working   on  Silver-Acre, sketching,"  to "running and swimming" does  not seem  like a revolutionary change.  Like Chevy Chase, where  the court broadly   interpreted   challenged   use  as  "transportation,"  here  athletic   activities   likely   also  constitute "student use".
Burden cannot be significantly greater than anticipated:  A's strongest  claim  will likely be that the burden has  significantly  risen  with  the  change  of  ownership from  D  to  G's  academy. A could  argue  that  the troubled   teens  are  often  fighting  and  yelling  while  they  are  exercising on  the  land.  If  this  is the  case, definitely more  disruptive to A.  Are the  teens  forced  to participate  in athletic  activities?  in which  case they'll  likely  be whining  and groaning the whole time (unlike  the students  who loved sitting  on the beach and painting  in watercolors)?  Is there a coach yelling  at them and keeping  them on track? if so, definitely more annoying for A to hear the coach  motivating the students  (compared with quiet artsy kids who likely sat  peacefully alone  doing  their  art  projects).    The  noise  increase  is a big  burden  on  A because  that  is where  he is living,  his own  home  is involved  and  he likely  doesn't want  to hear a bunch  of kids all the time. [Good point re noise & home].
Moreover, are the  troubled  teens  considerate of  litter/trash  clean  up?  D  institute  sounds   like  more considerate students  and maybe  the change  has now been a trend towards  teens  with more  problems  and less care  using the land. In that case, more of a burden on A to clean up after them.
Privacy this could  go either  way; on one hand,  may seem  like less burden  because  rather  than the art students who  were  sitting  in a spot  (likely  the same  spot  often)  doing  their  paintings,  (predictable) the teens  now are running  around  the  property  and swimming- may have  more  opportunity  to look  into A's home   [depends  on  distance  from  easement]  and  invade   his  privacy.   On  the  other  hand,  could   be considered more  privacy  for A because  rather  than just sitting  creepily  outside  and possibly  looking  into A's home,  running and swimming teens are distracted and busy with their exercise.
Depending on the increase  in burden  the court  may find  that A doesn't  have to let the teens  use the existing easement. Will  likely  depend  on the  change  in privacy,  litter,  and  noise.  The  court,  however, could  just  read  the easement and  facially  decide  that  the  use is reasonable considering the terms  of the lease and stop there.
 (5) Review Problem 5E (S129) (Bar-Z Ranch to Lake)

(a) Professor’s Comments:  This was a scope of the easement problem like the one we did in class involving Santa Claus.  Most people handled it quite well.  [This class did not read the cases covered in 2017].  Many students, however, tried to force an easement-by-necessity into the problem.  This is very wrong.  None of the requirements for easement by necessity are met:

(i) One parcel split into two:  no evidence of this

(ii) Leaving one parcel without access to the outside world:  no evidence of this either.  Nothing in the problem even vaguely suggests that the Bar-Z ranch cannot be reached except via the lake.  As long as there are roads to the ranch, it isn't landlocked.

(iii) The necessity exists at the time the parcels are split.  Even assuming that the parcels were once one unit, and even assuming that the lake is necessary to access the ranch, the earthquake occurred after the parcels were divided.

Think about what it would mean if you could get an easement-by-necessity to get to a lake just because you had no access.  You could buy up next-over-from-lake property and force your way in.  Un-American!

(b) Student Answer #1:  This question involves the scope of the purchased easement under the circumstances of the earthquake, etc.  Here the parties negotiated for the easement but limited its use to specific language "if that path is the closest access..."


First, what was the intention of the parties here?  To only create a slight burden on the S4 ranch?  If so, then maybe an increased use was not intended.  Maybe it was intentionally ambiguous language so that any unforeseen event (such as the earthquake damage) would not be seen as a breach or violation of the easement.


The questions to consider besides intent of the parties are the reasonableness of the change in use, the increased or diminished burden on the S4 Ranch and if this use is a revolutionary change in use.  These are fact and circumstance specific issues.

Reasonableness: Is this increase in usage reasonable?  How many guests used it before?  If only a few and now a lot maybe it's unreasonable.  But if there is no big change, (very big change) maybe it's not.  Is the Bar Z fully booked or does the areas near the S4 get booked first?  Maybe guests use those cabins more than those near the earthquake damage.  This may affect usage of the S4 easement & may bear on the reasonableness of the new use.

Burden:  Is there any significantly greater burden on the S4 now?  Even if all 35 cabins use the new easement maybe there's no real use difference so no greater burden,  If the burden is greater, maybe by noise or litter created by guests this could be a violation of the original agreement.  However, the language says "if path is the closest access"  it's OK, so this may allow use regardless since now there is no other path.  This may go back to reasonableness.  

Revolutionary Change:  Are the guests now using the same mode of travel and frequency of use here?  Probably so, so this would not be a revolutionary change.  As long as no revolutionary changes in use are made, as well as no additional burden on the S 4 & the use is reasonable then all guests can probably use the S 4 easement.

(c) Student Answer #2:  An easement is a grant in land.  Here, the easement was contracted for & in writing between the parties.  This is an express easement.  After the earthquake, guests of Bar-Z had no other way to the lake except across S-4.  Easements are to be analyzed as contractual rights and there are 4 factors to be considered.  


1st, what was the intent of the parties,  Clearly S-4 will argue that the intended use was for only 12 cottages, not 35.  Bar-Z will argue that the intent is specified in the writing as the closest way to reach the lake.  Because of the earthquake damage, this path is now the closest access to the lake for all guests.  


The next factor to be considered is the reasonableness of the easement.  Obviously S-4 thought it was reasonable at the time it was contracted for.  Looking at the broad language in the grant, it would seem reasonable to assume that the grant was not specifically limited to the 12 cabins on the east side.  S-4 would have been extremely short-sighted to believe that the # of guests/or cottages would always remain at 12.  


This also leads us into the third factor to consider and that is whether the changes (growth) have been "evolutionary" & not "revolutionary".  S-4 may argue that due to the earthquake, the changes have been revolutionary because now there are 3 times as many guests stomping through their property.  Bar-Z, however, can argue that this was a freak of nature and that the amount of people is not as great (i.e., not revolutionary) as if Bar-Z had built a high rise cabin that housed hundreds of people (for example) or started busing guests across S-4.  


The final consideration is whether the burden is greater than that which was contemplated.  Obviously, S-4 only contemplated 12 cottages of guests & now is faced with 35.  If he had contemplated more people, he could have charged more for the rights, limited the number in the grant, had a termination date included, or specified that if the # in-creased, the title grant would terminate.  Bar-Z, however, would again look to the wording of the grant & also to the fact that S-4 knew there were 35 cottages to be allowed to use the grant.  


Obviously, Bar-Z does not want S-4 to attempt termination of the grant & wants his guests to be able to use the path with no hostility between  him & his neighbor.  I would guess that, because an earthquake changed the situation (no fault of Bar-Z) & the amount of people is not substantially greater, that Bar-Z's guest would be able to use the path.  However, on the practical side, as Bar-Z's attorney I would advise weighing the costs of litigation between the two neighbors (including ill will) against possibly giving S-4 more $ for the inconvenience or else possibly buying a bus to take guests on main roads to get to the lake.  (Sort of a Coase Theorem Approach)

(6) Review Problem 5F (S129) (Hotel Sewage Easement)

This is Spring 2014 Question 2C:  
Comments/model answers available with Spring 2014 exam on course page.
(7) Review Problem 5G (S130) (Lead into Gold)

This is Spring 2015 Question 2A:  Comments/model answers will available with Spring 2015 exam on course page.
(8) Review Problem 5H (S102) (Lawyering & Roads to Oil Wells)

This is Part (c) of Sample Lawyering Question 1S:  Comments/model answers available with the Lawyering Qs on the course page.
 (9) Review Problem 5I (S131) (Sammy & Easement-by-Estoppel)

Sample Only (No Comments or Models)
(10) Review Problem 5J (S132-33) (Opinion/Dissent: Easements by Estoppel) This is Spring 2015 Question III:  Comments/model answers will available with Spring 2015 exam on course page.
(11) Review Problem 5K (S135) (Stephanie & Easement-by-Implication)

(a) Professor's Comments: I rewarded students who had a solid grasp of the relevant law and who gave me two-sided discussion of one or more of the three factors likely to be contested  here: Intent, Notice & Necessity.   The two model answers both received grades of 9 because they were much better than any of the other submissions.

(i) Legal Make-Up of Easement by Implication  (E-by-1):
A.  Uncontested Points:  Ws sold cottage & land to S, splitting existing parcel where prior use of pipes across western section had already been serving the three eastern cottages.  If Ws were to retain  use  of the  pipes,  the easement  would  be implied  by reservation, since the  original owners would end up with the dominant tenement. In many states, tougher rules if implied by reservation.
B.  Intent:   Crucial Q for E-by-I is whether evidence suggests parties intended prior use to continue after split.  In some states, some version of necessity and notice are required elements; in some, they merely are evidence of intent.  Reference to "permanent" in Williams Island is part of this:  Q is not whether pipes intended to be permanent at installation, but whether use of pipes to serve eastern cottages intended to be permanent at time of split.
I set this up to be a tricky little issue, b/c it's  hard to talk about evidence of intent when it's not absolutely clear that either party was aware of the location of the pipes.  As it played out, very few students discussed intent at all and nobody really addressed whether you should create an E-by-I in a case equivalent to mutual mistake.
C.  Notice (Apparent/Visible):   I suggested in class that the same facts probably would work for "apparent" at time  of split and for notice to subsequent  purchaser.   We also discussed  a couple of times how notice might work for underground pipes.  Two categories:

1) Actual Notice:  S might have known about plumbing from time on land in 80s or from inspection or disclosure at time of sale.  Although set up of pipes was news to plumbers in 2013, not clear if news to S.
2) Inquiry Notice:  Underground cuts against this, but might have reason to inquire from set up of group of cottages so far from property line (likely pipes shared, so either Ws cottages emptying onto S 's  land or vice-versa).  A court might find inquiry notice from aboveground elements, from plans for cottage if provided at sale, etc.

D.  Necessity:   Helpful to note that the extent of necessity required  varies by state and is "strict" in some states b/c the easement is implied-by-reservation. Room for some discussion of necessity of having water & sewer hookups for residential cottages, but also need to address whether there are other ways to get access besides the existing pipes.
Need to be clear that relevant time frame for looking at alternatives is when S purchased her lot, not when the pipes were installed.   At that time, Ws no longer owned the mansion and the east side of the ridge, so, whatever the expense, they are landlocked in that direction. You’d need to examine  whether they are also landlocked to the north & south and how expensive it would be to repipe in those directions.  Some students also cleverly suggested looking to see if it were possible to replace the pipes with a septic tank and well water or water delivery.
(ii) Common  Problems:
A.  Clarity on Law: A lot of answers were muddy or off on relevant law and/or were not clear about what facts are relevant to finding an E-by-I.  For example, quite a few students discussed whether the easement would harm the servient estate, even though this is not directly relevant to any of the required elements/factors.   Indeed, an easement almost always burdens the servient tenement  to some extent; that's  why the dominant owner usually pays for it.   To make harm relevant, you'd  need to argue, e.g., that the harms are so severe that it's  unlikely that the parties intended to create the easement.
B.  Stick to Q:  Although the question asked only about E by-I, some students wasted time by discussing  whether  the facts  supported other types of implied easements.   One student even analyzed the problem as though the issue was the scope of an express easement, a particularly odd choice because that topic was the subject of Problem C.

C.  Flipping Problem:   Several students believed the issue was whether S had an implied easement over the Ws'  land.   After rereading the problem, I don't  have a lot of sympathy for those who made this mistake.  First, facts are clear that S is buying land that includes connection between cottages and municipal system.   Because after she buys the surface, she owns the connecting pipes (unless the deed explicitly says otherwise), she doesn't  need an easement to use them. 
Second, although the initial instructions don't explicitly say who would own the easement, they do say, "Discuss whether, in the following scenario, an Easement-by-Implication exists in 2013 allowing  water and sewage to flow across Stephanie's land  to and from the remaining Weber guest cottages."   If the easement allows stuff to cross S's  land, S's  land has to be the servient tenement and the Ws' land the dominant tenement.

D.  Minor Point: A ridge is a set of hills or mountains close enough to each other to form an extended elevated crest.  Thus, to walk from mansion to cottages, you had to climb up, then drop down; connecting pipes would have to climb or drill through the ridge.  Some students called the ridge a ditch,  which would have required the pipes to go down then back up, or to get support from a bridge across the ditch.  In the end, the effect of a ditch on the problem would have been similar to that of the ridge, so the confusion didn't  affect your score. Take-home point: If you aren't sure what a word means, say so, and indicate the meaning you are giving it.

(b) Student Answer #1: This   was the only answer to provide some real two-sided discussion on all three main issues.  This student had a solid sense of the relevant law and probably did the best work on necessity.
An easement  by implication  (E  by I)   is created  when one  parcel  is split  into two and the quasi​ easement  that previously existed becomes an E by I (pursuant to the 3 factors below). Here, the pipes to service the cottages were on one parcel of land and serviced all four cottages. The parcel was split (and the existing  pipeline)  when Marc (M)  sold the Westernmost guest cottage  to Stephanie (S). Thus, this would likely be considered one original quasi-easement of pipes split into two.
Apparent/Visible/Reasonably Discoverable: M might argue that S, being a wealthy attorney, would have known about the existence of easements for water and sewer lines from her line of work or should have discovered  them.  At the very least she would have learned about them in law school. Thus, when she purchased the cottage, she should have asked about the water and sewer pipes. However, S might argue that, unlike Williams Island, the pipes were underground, so they were not visible and apparent, and she had no reason to believe that the pipes to those cottages weren't coming from somewhere else. It would be helpful to know whether the deed for S's cottage indicated the pipes were connected to the other cottages or made any reference to an easement regarding the pipes.
Intend Permanent Easement at Split:  We would need to know if there were any conversations between M and S when S bought her cottage regarding the pipes. Clearly M intended to continue having access to the water and sewer lines that S would soon own [assuming  he knew  where they went]. However, if S was unaware  that  the  pipes  serviced  those  cottages,  she  couldn't  have  intended  to  provide  a   permanent easement.
Reasonably  Necessary for Enjoyment:  Water and sewer lines are necessary for a home (as opposed to a business office).  One major fact that would be necessary to know here is what property lies to the north and south of the estate and cottages? Are there other available water/sewer hookups that M could connect the  other  3  cottages  to?  Could  M  build a well on the  land and figure  out an alternative  method for sewage? If so, then the easement through S's land would not be reasonably necessary for enjoyment of M's parcel. Considering the Weber family built the water and sewer lines in the direction they did, instead of to the north or south, might indicate that the lines to the west were the only possible/efficient way to build.
(b) Student Answer #2: This student also generally had a solid grasp of the law, but failed to address intent.    This  answer  has  easily the best discussion  of  notice in the class as well as some pretty good two-sided work on necessity.
An easement by implication is created when one person owns a parcel of land and uses one part of the land to benefit another. This is said to create a quasi-easement. When the original owner then splits the land and sells  the servient estate and retains the dominant estate he is said to have created an implied easement  by  reservation.  Relevant  factors  which  have  been  recognized  as  critical  in establishing  an easement by implication include:
(1)  Easement was readily apparent at the time of conveyance (or was of the type to require inquiry):  In this  case  Stephanie  had  been on the  land before and  had  spent  many  summers  in the cottages  as a teenager. She has presumably used the plumbing before and may have been able to reasonably conclude that the 4 cottages shared plumbing. However, given that she was only a teenager and probably thought very little about plumbing,  let alone how it worked, she probably did not know that the plumbing was traveling westward from the eastern most cottage underneath the 3 others to the municipal pipes on the western edge of the property. This is slightly different then the facts in WICC, where it could not have been  more  clear  that  the  easement   being  used  for  the  golf  cart  path.  Given  that  the  pipes  were underground, it might not be fair to conclude that S knew the pipes were passing under her cottage when she purchased it.

However, perhaps it would be reasonable to expect a prudent person (an attorney in this case) to understand that every house is equipped with plumbing which generally runs underground. Also, because she probably knew that all 4 units had been built together, it would not be unreasonable to expect that she knew pipes were traveling underneath the homes. Presumably, she wasn’t going to the bathroom in an outhouse when she stayed there during the summers as a teenager. The pipes had to be running somewhere. Again, because she was familiar with the area, she may  have known that the municipal plumbing site was to the west of her home and it would only make sense that the plumbing from the first three cottages was traveling in that direction. This might put S in a position where she would be required to inquire about potential easements underneath the house. This is similar to WICC, in that the court determined that servient estate should  have at least inquired if nothing else. The facts suggest that she quickly jumped on the opportunity without really asking many question. Also the Webers were living in the other cottages so the plumbing had to have been working still.

(2) Necessary for the existence of the dominant property: With an easement by implication, the degree of necessity required usually is less than for an easement by necessity but still requires a substantial showing. ln WICC, the golf cart path was treated as absolutely necessary to the functioning of the course, but court commented that such a standard was not necessary for an easement by implication. Considering that the W's no longer own the adjacent property, and therefore don't have the option of going through the ridge, it seems that this easement would meet the necessity requirement. It may be possible for the 3 cottages to reroute their plumbing around S's plot of land, but this would likely be ineffective and very pricey.
(12) Review Problem 5L (S135-36) 
(Opinion/Dissent re Waiver of Easement-by-Necessity)

This is Sample Opinion/Dissent Q Question 3J:  Comments/model answers available with the Opinion/Dissent Qs on the course page.
 (13) Review Problem 5M (S137) (Lawyering/Implied Easements)

This is Part (2) of Sample Lawyering Question 1R:  Comments/model answers available with the Lawyering Qs on the course page.
(14) Review Problem 5N (S137) (Lawyering/Implied Easements)

This is Part (a) of Spring 2014 Question I:  Comments/model answers available with Spring 2014 exam on course page.
(15) Review Problem 5O (S138) (Lawyering/Prescriptive Easement)

This is Part (a) of Spring 2015 Question I:  Comments/model answers will available with Spring 2015 exam on course page.
.

� Several critiques argued that D couldn’t make claims about blocked views because the grant did not reference views and she hadn’t purchased a negative easement.  This misunderstands the nature of this argument.  She is not trying to prevent M from blocking her view from his own land.  She is claiming that the blocked view is an unanticipated burden arising the M’s proposed use of her land. She’d argue (if Chevy Chase didn’t control) that it’s like the unanticipated burdens from wandering hiker/bikers that Presault found too great to allow.


�  A one horsepower vehicle.





� If I had time, I might do a socio-linguistic study of which of you used what polite synonym to deodorize the crass Anglo-Saxon word “horseshit.”  Your choices included manure, fecal matter, poop, defecation, “moving its bowels,” and the clear-but-not-quite-accurate “go to the bathroom.”  For some reason, several of you referred to “defication,” which ought to mean the removal of ficus trees.   
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